
Answer: D
The call stack will look like:
recursion(3)

recursion(2)
recursion(1) -> “hi”
recursion(0) -> “hi”

recursion(1) -> “hi”
So “hi” should be printed 3 times.



Answer: C
The call stack will look like:
recursion(3)

recursion(2) -> “hi”
recursion(1) -> “hi”

So “hi” should be printed 2 times.



Answer: D

In both 1 and 3 the recursive case does not get any smaller. In the latter, we are just 
copying the list (we would want `seq[:len(seq)-1]`).



Answer: B

Both 1 and 2 have operations performed after the recursive call. For 1 it is the print, 
for 2 it is the multiplication by n. While for 3 no operations are performed after the 
recursive call, we just return the recursive result immediately.


